/DVIRB

*UXSD 5R]NiDG $"0 6 - 7\J
o
™
=
n
oD
o)
—_
o
7N 7N
G\VIHP RFKURQ\ SUDZQHI G\VIHP RFKURQ\ SUDZQHI
Z 80l (XIRSHVNHI Z G Z 80l (XIRSHWNHI Z G
- U "HINQJ ™ TLXN $QQD =% U "HINQJ = LXN $QQD =%
T $"06 - $"06 =
=
Q
7 7\G] 7\G]
2UIDQ\ NRQIURLL 2UIDQ\ NRQILRLL
.QDQVRZHI L EXGTHIRZHI .QDQVRZHI L EXGTHIRZHI
Z Gl "HNQJ XN Z Gl "HNQJ = ]XN
$QQD =% $"0 $QQD =% $"0
6 $2 6 $2
7\G] 7N 7N 7\G] 7\G] 7N 7N
2UIDQ\ NRQIRIL 6HPIQDUXP GU %DUIQIN *RVSRGDUND NRPXQDIQD *RVSRGDUND NRPXQDIQD 6HPIQDUXP GU KDE SIRI 6HPIQDUXP G KDE SIRI
LQDQVRZHI L EXGTHIRZHI ORQIND =% -é=<., $"06 - Z Gl = RUNRZIDN $QQD Z Gl = RUNRZIDN $QQD 8-~ +DEXGD $GDP =% 8-~ +DEXGD $GDP =%
Z GU "HNQJ = ]XN $"06 6(0 =% $706 =% $706 $"06 6(0 $°06 6(0
$QQD =% $"0 7\G] $6 $6
6 %2 7] *RVSRGDUND NRPXQDIQD ™N 7\6]
2UIDQ\ NRQIURLL Z Gl = RUNRZIDN $QQD 7NG] ] BHPLQDUXP GU %DUIQIN BHPIQDUXP GU %DUIQIN
™ .QDQVRZHI L EXGTHIRZHI =% $"06 *RVSRGDUND NRPXQDIQD 2UIDQ\ NRQIURLL ORQIND =% ORQIND =%
BHPIQDUXP GU %DUIQIN Z Gl "HNQJ XN $6 Z Gl = RUNRZIDN $QQD .QDQVRZHI L EXGTHIRZHI $°06 6(0 $°06 6(0
ORQIND =% $QQD =% $"0 =% $706 Z Gl "HNQJ = ]XN
$"06 - 6 $2 7\G] $6 $QQD =% $"0 7N
= -~ *RVSRGDUND NRPXQDIQD -~ 6 $2
4 Z Gl = RUNRZIDN $QQD = -+VIRUD SUDZD
& B BHPLQDUXP Gl %DUIQIN =% $706 SRGDINRZHIR GU 64AV]
> ] ORQIND =% $6 3UREHP\ SRGDINRZH -+VIRUD SUDZD SIHNVDQGHY =%
6\VIHP $°06 6(0 SRIDNyZ GU 6i\V] SRGDINRZHIR GU 64AV] $°06 &
RFKURQ\ SIHNVDQGHU =% SIHNVDQGHY =%
SUDZQHI Z 7\G] $"°06 & $°06 & 7N
80L
B\VIHP RFKURQ\ SUDZQHI
'S‘f(UZRSHé‘U/NL Z 8QUL (XIRSHWNHI Z G ™ ™ = VSy#F]HVQD IR]RID
ks U "HINQJ = LXN $QQD =% = VSy:FHVQD IIR]RILD SRUAN. 37 = GU
. t’xﬁ $°06 - (VIHIND QRZ\FK PHGlyZ SRUAN. 37 = GU 2]ICERZVN. ODUXV] =%
1 - 37 - Gl 2]ICERZWNL 2]ICERZVN. ODUXV] =% $°06 &
$QQ0 =% ODUXV] =% $"06 &
$°06 $°06 &




/DVIRB

$"06 6(0

% $"06 &

% $"06 &

Z GU = yiFIFND (ZD =%
$"06 =

*UXSD 5R]NiDG $"0 6 - 7\J
7™ 7
3REHPN | |[-+viRuD
SRGDINRZH || [suozD
SRDNyZ 6U| | [SReDINRZH
6AV] JR G
SHNVDQGH| || 86\
=% SIHNVDQGHU
$706 ||| =%
a & $"06
§ &
i 7™
S 7™
CVIHINND
QRZ\FK = VSyFTHV
PHelyz  |||oD IRIRID
37: ol |||srunnt
2JICERZWN| || 3= = @U
LODUXV] =|||2]CERZWN
% L ODUXV] =
$"06 %
& $"06
&
7N 7\6] 7\6] 7N 7N 7] 7\6]
6RFIRIRIID 6HPLQDUXP G KDE SIRI 6HPLQDUXP GU 3DIXV]HN 3UDZR PLHIVFRZH L IHIR 8Vilyl RIJDQyZ RFKIRQ\ L 8Vilyl RIJDQyZ RFKIRQ\ L
ZVSYiFTHVQRGFL GZ SIR 8-" +DEXGD $GDP =% _DURIQD =% VIDQRZIHQH Z Gl KDE 3RVICSRZDQH SRPRF\ SUDZQHI Z Gl SRPRF\ SUDZQHI Z Gl
| QDG]Z SRVy: $GDP = $"06 6(0 -20387(52:% %RIXVIDZ 3UJ\ZRID SIRI VaGRZRDGPLQIVIDF\IQH KDE %RIXVIDZ 3UT\ZRWD KDE %RJXViDZ 3U]\ZRID
% $"06 & $"06 6(0 8- =% $"06 Z GJ = yiFIFND (ZD =% SIRI 8-" =% SIRI 8-" =%
7\ $6 $"06 - $"06 $2 $"06 $2
7N 7\6]
6HPLODUXP GU 3DIXVIHN
_DURIQD =% GHPLQDUXP GUKDE SURI 7] 7\G] ™ ™
3RVICSRZDQH .20387(52: % 8-= +DEXGD $GDP =% 3RVIGSRZDQH 3UDZR PIHIVFRZH L IHIR 6HPLQDUXP GU 3DIXVIHN
VaGRZRDGPLQIVIDF\IQH $"06 6(0 $"06 6(0 VaGRZRDGPLQVIDF\IQH VIDQRZIHQH Z Gl KDE 6HPLQDUXP GU 3DIXVIHN _DURIQD =%
0Z G = \WRJIaG Z Gl - yiFFND (ZD =% %RIXVIDZ 3UJ\ZRID SIRI _DIRIQD =% $°06 6(0
ODJGDHOD =% 7N 7N $"06 - 8-" =% $"06 $"06 6(0
$706 & BRFIRIRIID BRFIRIRIID $6 ™
Z INJRGQLX PIQ ZVSyiFTHVQRGFL SURI ZVSyiFJHVORGFL GiZ SIR 76l 7\G] 3RVICSRZDQH
RG QDG]Z 5RVyi $GDP =% | QDG]Z SRVy: $GDP = 8Vilyl RIJDQyZ RFKIRQ\ L 7\6] 3UDZR PLHIVFRZH L IHIR VaGRZRDGPLQIVIDF\IQH
A $"06 - % $"06 & SRPRF\ SUDZQHI Z Gl 6HPLQDUXP GU 3DIXVIHN VIDQRZIHQH Z GU KDE Z GU = yiFIFND (ZD =%
2 7N KDE %RJXViDZ 3U]\ZRID _DURIQD =% %RIXVIDZ 3U\ZRID SIRI $"06 -
ﬁ 7N 7N SIRI 8-" =% $"06 6(0 8-" =% $"06
0) 6\VIHP RFKURQ\ SUDZQHI 8Vily! RUIDQyZ RFKURQ\ | $706 $2 $6 ™
T Z 80l (XIRSHIVNHI 12 6\VIHP RFKURQ\ SUDZQHI SRPRF\ SIDZQHI Z G 6] 6RFIRRJLD
o GU =HINGJ = JLXN $QQD = Z 8QlL (XIRSHIVNHI 1Z KDE %RJXViDZ 3UJ\ZRID ™N 6RFIRRJLD 6] ZVSyiFTHVQREFL GZ SIR
% $°06 & GU "HINQJ ™ JLXN $QQD = SIRI 8-" =% ZVSyiFTHVQREFL GZ SIR 3RVICSRZDQH | QDG]Z SRVy: $GDP =
Z NIRGAX PIOXI % $°06 & $"06 $2 6\VIHP RFKURQ\ SUDZQHI | QDG]Z SRVy: $GDP = VaGRZRDGPLQIVIDF\IQH % $"06 &
P Z 8QlL (XIRSHIVNHI 1Z % $"06 & Z GU = yiFIFND (ZD =%
7N 7N G0 "HNQJ = JLXN $QQD = $"06 -
% $°06 & 7\6]
3RVIESRZDQIH G\VIHP RFKIRQ\ SUDZQHI Z INIRGQIX PIQ BRFIRIRIID ™
VaGRZRDGPLQWVIDF\IQH Z 8QLL (XIRSHIVNHI 0Z R ZVSyiFTHVQRGFL 6Z SR BRFIRIRIID
iZ GU = \VRJaG GU "HINGJ = JLXN $QQD = | QDG]Z SRVy: $GDP = ZVSyiFTHVQRGFL SIRI
ODJGDHQD =% % $°06 & 7\ % $"06 & QDG]Z 5RVyi $GDP =%
$706 & 6RFIRIRIID $°06 -
5 7] ZVSyiFTHVQRGFL SURI 7\G] 5
6RFIRRJLD QDG]Z 5RVyi $GDP =% 6RFIRRJLD
6HPLQDUXP GU %DUIQIN ZVSyiFTHVQREFL GZ SIR $"06 - ZVSyiFTHVQRGFL GZ SIR 3RVICSRZDQH
ORQIND =% | QDG]Z SRVy: $GDP = | QDG]Z SRVy: $GDP = VaGRZRDGPLQIVIDF\IQH




/DVIRB

*UXSD SRINiDG $"06

7\J

QLHG]LHOD

7\J

3RVICSRZDQUH
VaGRZRDGPIQIVIDFIQH
iZ GU =\VRJaG
ODJGDIHQD =%
$"06 &

7\J

3RVICSRZDQUH
VaGRZRDGPIQIVIDF\IQH
iZ GU =\VRJaG
ODJGDIHQD =%
$°06 &

ZINJ PlQ GR




